C12 - 3.7 - Distance/Eq Max/Min Notes

: 2 2 _ .2
Shortest Distance d = \/(xz —x)2 + (v, — y1)? ac+b°=c
from 2+/x to pt (6,0). c =+ a2 + b2
5 _d= - 692 + (@ - o
of c=+/2%+42
d=vx2-12x+36+4x [y = /70 C=2V5)
:r d=+x%—-8x+36 ., )
’ 1 y = y = Vthat
T d = (x* —8x +36)z 2Jf(x) chain that
4 1 1 e
Nl d = 3 (x2—8x +36)2x (2x — 8) Y 2Vthat
x—4 | >
d' = = = '
VxZ2 —8x + 36 4
VxZ—-8x+36 ¥y =2Vx
Shortest ladder. Yy 3

L=(x+2)2+(y+3)?

L=1/y2+22+/x? + 32

) 2 Not Optimal
y 6 ° [v2 — 9 — 4. [26+—3
2 2 6 2
3 X A3 36 18 L= |x+2)2+[(=]+3
L= |[x?+4x+4+—+—+9 x
x2  x
2 x L= ...
0=2x+4—72x"3—18x"2
. L= [(2.0596 + 2)2 + +3
Graphing 0=2x*+4x3—18x —72 ( ) ((2.0596) )
Calc/Factoring* C = 2.0596>

Min Distance Between. c =+a? + b2 Can take a=vt
- _ ivati = 25(0.39)
lett = # hrs after 12pm d =+/(25t)2 + (=20t + 20)2 Derlvatl\:e of( a
y 4 b
da km _ b = vt
—=25— | Y=mx+b | = 2(25t)25 + 2(—20t + 20)(—20) =v
dt hr d' = > : b =20 — 20(0.39)
oo odr =ditut 2,/(25t)% + (—20t + 20)
Noon (a=0,b=40) - _
a b ( f )= 2(25t)25 + 2(—20t + 20)(—20) c=+a*+b?
NPl 22 _50fM 0 = 1250t + 800t — 800
dt hy - 0.39 x 60 'm End Noon (d=20km)
12+ 23.4 <02 23 PED Points Qo (d-25kmD

If b Arrives at 1pm Moving at 20km/h it was 20km at 12pm.
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